Section 11.9: Representations of Functions as Power Series

Geometric Power Series: $\sum_{n=0}^{\infty} x^n = 1 + x + x^2 + x^3 + \dots = \frac{1}{1-x}$ converges for |x| < 1 with Radius of convergence = 1 and interval of convergence (-1, 1)



Example: Find the power series representation of f(x) and the radius and interval of convergence.

A)
$$\frac{1}{4+x} = \frac{1}{4(1+\frac{x}{4})} = \frac{1}{4}$$
. $\frac{1}{1-\frac{x}{4}}$ $\frac{1}{1-\frac{x}{4}}$

$$\sum_{n=0}^{\infty} x^{n} = \frac{1}{1-x}$$

$$\sum_{n=0}^{\infty} x^{n} = \frac{1}{1-x}$$

$$\sum_{n=0}^{\infty} x^{n} = \frac{1}{1-x}$$

find Rodins & Interval of con.

$$\lim_{n\to\infty} \left| \frac{y^{n+1}}{y^{n+2}} \cdot \frac{y}{y} \right| = \lim_{n\to\infty} \left| \frac{x}{y} \right| = \left| \frac{|x|}{|x|} \right| < 1$$

$$\lim_{n\to\infty} \left| \frac{x}{y} \right| = \lim_{n\to\infty} \left| \frac{x} \right| = \lim_{n\to\infty} \left| \frac{x}{y} \right| = \lim_{n\to\infty} \left| \frac{x}{y} \right| = \lim_{n\to\infty} \left$$

$$\begin{vmatrix} \frac{x}{4} & | & 1 \\ \frac{x}{4} & | & 1 \end{vmatrix}$$

$$-1 & 2 & \frac{x}{4} & 2 & 1$$

$$-42 & 24$$

$$-42 & 24$$

$$-42 & 24$$

$$-42 & 24$$

$$-42 & 24$$

$$\frac{\text{Test endpoints}}{\text{X = Y}} \qquad \qquad \frac{\text{C(1)} \quad \text{Y}}{\text{Y n + 1}} = \frac{\text{C(1)}}{\text{Y}}$$

$$\frac{\chi=\gamma}{\sqrt{n+1}} = \underbrace{\sum \frac{C(1)}{\gamma}}_{q} = \underbrace{\sum \frac{C(1)}{\gamma}}_{q} \underbrace{b_{n} + 0}_{q} \underbrace{b_{n} + 0}_$$

$$X = -4$$
 $\sum \frac{(-1)^n(-4)^n}{4^{n+1}} = \sum \frac{(-1)^n(-1)^n 4^n}{4^{n+1}} - \sum \frac{1}{4} \quad div. \quad b_3 \text{ test fine}$ $dv.$

$$\frac{1}{4+x} = \sum_{n=0}^{\infty} \frac{(-1)^n x^n}{4^{n+1}} \qquad R = 4 \qquad I: (-4, 4)$$

B)
$$\frac{x^2}{4+x} = x^2 \cdot \frac{1}{4+x} = x^2 \cdot \frac{1}{$$

$$\frac{1}{1-x} = \sum_{n=0}^{\infty} x^n$$

Example: Find the power series representation of f(x) and the radius of convergence.

A)
$$\frac{3x^3}{1 - 9x^2} = 3x^3 \cdot \frac{1}{1 - 4x^2} = 3x^2 \cdot \left[(4x^2)^n \right]$$

$$= 3x^3 \cdot \int_{m=3}^{2n} q^n x^{2n} = \int_{m=2}^{\infty} 3 \cdot x^3 \cdot 3^{2n} x^{2n}$$

$$= \int_{m=3}^{2n+1} \frac{3^{2n}}{x^2} = \int_{m=2}^{\infty} 3 \cdot x^3 \cdot 3^{2n} x^{2n}$$

$$= \int_{m=3}^{2n+1} \frac{3^{2n}}{x^2} = \int_{m=2}^{\infty} 3 \cdot x^3 \cdot 3^{2n} x^{2n}$$

$$= \int_{m=3}^{2n} \frac{3^{2n}}{x^2} = \int_{m=2}^{\infty} 3 \cdot x^3 \cdot 3^{2n} x^{2n}$$

$$= \int_{m=3}^{2n} \frac{3^{2n}}{x^2} = \int_{m=2}^{\infty} 3 \cdot x^3 \cdot 3^{2n} x^{2n}$$

$$= \int_{m=3}^{2n} \frac{3^{2n}}{x^2} = \int_{m=3}^{2n} \frac{3^{2n}}{x$$

B)
$$\frac{x}{x^2 - 3x + 2} = \frac{2}{x - 2} + \frac{-1}{x - 1}$$

$$= \frac{2}{-2 + x} - \frac{1}{-1 + x}$$

$$= \frac{2}{-1 + x} - \frac{1}{-1 + x}$$

$$= \frac{2}{-1 + x} - \frac{1}{-1 + x}$$

$$= \frac{2}{-1 + x} - \frac{1}{-1 + x}$$

$$= \frac{1}{1 - \frac{x}{2}} + \frac{1}{1 - x}$$

Converge
$$|\frac{x}{2}|L| = (-1) \sum_{n=0}^{\infty} (\frac{x}{2})^{n} + \sum_{n=0}^{\infty} x^{n}$$

$$|x| \leq 2$$

$$R = 1$$

$$|x| \leq 2$$

$$R = 2$$

$$|x| \leq 2$$

$$R = 2$$

$$|x| \leq 3$$

$$|x| \leq 1$$

$$|x| \leq 3$$

$$|x| \leq 3$$

$$|x| \leq 4$$

$$|x| = 4$$

$$|x|$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

$$= \sum_{n=0}^{\infty} \left(\frac{-x^n}{z^n} + x^n \right) = \sum_{n=0}^{\infty} x^n \left(1 - \frac{1}{z^n} \right)$$

 $\left| \frac{1}{1-17} = \sum_{n=3}^{3} \frac{1}{n^2} \right|$

10/41

C)
$$\frac{9}{x^4 + 81} = \frac{9}{81 + x^4} = \frac{9}{81 \cdot (1 + \frac{x^4}{51})} = \frac{6}{81} \cdot \frac{1}{1 - \frac{-x^4}{81}}$$

$$= \frac{1}{9} \cdot \frac{1}{1 - \frac{-x^4}{51}} = \frac{1}{9} \cdot \sum_{n=0}^{\infty} \left(\frac{-x^4}{81}\right)^n \quad \text{if } \left|\frac{-x^4}{81}\right| < 1$$

$$= \frac{1}{9} \cdot \frac{1}{1 - \frac{-x^4}{51}} = \frac{1}{9} \cdot \sum_{n=0}^{\infty} \left(\frac{-x^4}{81}\right)^n \quad \text{if } \left|\frac{-x^4}{81}\right| < 1$$

$$= \frac{1}{9} \cdot \frac{(-1)^n \times 4^n}{81} = \sum_{n=0}^{\infty} \frac{(-1)^n \times 4^n}{9 \cdot 81^n} = \sum_{n=0}^{\infty} \frac{$$

Theorem: If the power series $\sum_{n=0}^{\infty} c_n(x-a)^n$ has a radius of convergence R > 0, then the function defined by $f(x) = \sum_{n=0}^{\infty} c_n(x-a)^n$ is differentiable (and therefore continuous) on the interval (a-R,a+R) and

$$f(x) = c_0 + c_1(x - a) + c_2(x - a)^2 + c_3(x - a)^3 + \dots = \sum_{n=0}^{\infty} c_n(x - a)^n$$

$$f'(x) = c_1 + 2c_2(x - a) + 3c_3(x - a)^2 + \dots = \sum_{n=1}^{\infty} nc_n(x - a)^{n-1}$$

$$\int f(x)dx = C + c_0(x-a) + \frac{c_1(x-a)^2}{2} + \frac{c_2(x-a)^3}{3} + \dots = C + \sum_{n=0}^{\infty} \frac{c_n(x-a)^{n+1}}{n+1}$$

The radii of convergence for both f'(x) and $\int f(x)dx$ are both R. The interval of convergence may change.

$$f = \sum_{n=0}^{\infty} \frac{x^n}{3^n}$$

$$g = \sum_{n=0}^{\infty} \frac{x^{n+2}}{3^n}$$

$$g = \frac{x^0}{3^0} + \frac{x^1}{3^1} + \frac{x^2}{3^2} + \cdots$$

$$g = \frac{x^2}{3^0} + \frac{x^3}{3^1} + \frac{x^4}{3^2} + \cdots$$

$$g = x^2 + \frac{x^3}{3^1} + \frac{x^4}{3^2} + \cdots$$

$$f' = \sum_{n=0}^{\infty} \frac{nx^{n-1}}{3^n}$$

$$g' = \sum_{n=0}^{\infty} \frac{(n+2)x^{n+1}}{3^n}$$

Example: Evaluate this integral by using a power series and find the radius of convergence.

convergence.

$$\int \frac{9}{x^4 + 81} dx =$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{n=0} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{n=0} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$= \int \underbrace{\begin{cases} (-1)^n \times 4^n \\ 4^{2n+1} \end{cases}}_{(4n+1)} dx$$

$$\lambda = 3 \qquad \int_{-2}^{2} \frac{(-1)^{n}}{(4n\pi)^{n}} \frac{3^{n+1}}{(4n\pi)^{n}} = \int_{-2}^{2} \frac{(-1)^{n}}{(4n\pi)^{n}} \frac{3^{n+1}}{(3^{2})^{2n\pi}}$$

$$= \int_{-2}^{2} \frac{(-1)^{n}}{(4n\pi)^{n}} \frac{3^{n+1}}{3^{n+2}} = \int_{-2}^{2} \frac{(-1)^{n}}{(4n\pi)^{n}} \frac{3^{n+1}}{3^{n+1}}$$

$$\lambda = 3 \qquad \int_{-2}^{2} \frac{(-1)^{n}}{(4n\pi)^{n}} \frac{3^{n+1}}{3^{n+1}} = \int_{-2}^{2} \frac{(-1)^{n}}{(4n\pi)^{n}} \frac{3^{n+1}}{3^{n+1}}$$

$$\lambda = 3 \qquad \int_{-2}^{2} \frac{(-1)$$

Example: Find a power series representation of f(x) and determine the interval and radius of convergence.

$$f(x) = \ln(1+x)$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-x)} = \sum_{n=0}^{1} (-x)^{n} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{1} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$\int_{-1}^{\infty} f(x) = \frac{1}{1 - (-1)^{n}} = \sum_{n=0}^{\infty} (-1)^{n} x^{n}$$

$$|n(1+x)| = \int \frac{1}{1+x} dx = \int \underbrace{\sum_{n=0}^{\infty} (-1)^n x^n}_{n+1} dx = C + \underbrace{\sum_{n=0}^{\infty} \frac{(-1)^n x^{n+1}}{n+1}}_{R=0}$$

$$|n(1+x)| = C + \underbrace{\sum_{n=0}^{\infty} \frac{(-1)^$$

$$\ln(1+0) = C + 0$$

$$\ln(1+0) = C$$

$$C=0$$

$$\int x^{3} dx = \frac{x^{4}}{4} + C$$

$$\int (x) = x^{3} = -(f(1)) = 10$$

$$\int (x) = \frac{x^{4}}{4} + C$$

$$\int (x) = \frac{x^{4}}{4} + C$$

$$\int (x) = \frac{1}{4} + C$$

$$\int (x) = C$$

$$|n|H \times 1 = \int \frac{(-1)^{n} \times 1}{n+1}$$
 $l=1$ $I: (-1,1]$

s in the state =

Building block#2

Example: Find the power series representation of these functions. determine the radius of convergence.

A)
$$f(x) = \ln(1-x) = \ln\left(1+\frac{(-x)}{(-x)}\right)$$

$$= \underbrace{\begin{cases} -x/2 & \\ -x/2 &$$

B)
$$f(x) = \ln(4 + x^2)$$

$$\int_{1}^{1}(x) = \frac{2x}{4+x^{2}} = \frac{2x}{4(1+\frac{x^{2}}{4})} = \frac{2x}{4} \cdot \frac{1}{1-(\frac{-x^{2}}{4})} = \frac{x}{2} \sum_{n=0}^{\infty} (\frac{-x^{2}}{4})^{n}$$

$$= \frac{x}{2} \sum_{n=0}^{\infty} (\frac{-1)^{n}}{4^{n}} \times \sum_{n=0}^{\infty} \frac{(-1)^{n}}{2 \cdot 4^{n}} \times \sum_{n=0}^{\infty} \frac{(-1)^{n}}{2^{n}} \times \sum_{n=0}^{\infty} \frac{(-1)^{n}}{2 \cdot 4^{n}} \times \sum_{n=0}^{\infty} \frac{(-1)^{$$

$$\ln(4+x^{2}) = \ln(4) + \underbrace{\frac{(4)^{2} \times 2n+2}{2 \cdot 4^{2}(2n+2)}}_{2 \cdot 4^{2}(2n+2)} = \underbrace{\frac{(2n+2)^{2} \times 2(n+1)}{2 \cdot 4^{2}(2n+2)}}_{2 \cdot 4^{2}(2n+2)}$$

$$\ln \left(\frac{1}{4} \right)^{2} = \ln \left[4 \left(1 + \frac{x^{2}}{4} \right) \right] = \ln \left(4 \right) + \ln \left(1 + \frac{\left(\frac{x^{2}}{4} \right)}{4} \right)$$

$$= \ln(4) + \sum_{n=0}^{\infty} \frac{(-1)^n}{n+1} \cdot \left(\frac{x^2}{4}\right)^{n+1} = \ln(4) + \sum_{n=0}^{\infty} \frac{(-1)^n}{(n+1)} \cdot \frac{x^{2n+2}}{4^{n+1}}$$

$$\left|\frac{x^2}{4}\right| \leq 1 - \sum_{n=0}^{\infty} |x^2| \leq 4 - \sum_{n=0}^{\infty} |x| \leq 2$$

Example: Find the power series representation of f(x) and determine the radius of convergence.

$$f(x) = \arctan(x)$$

$$\int_{1+\chi^{2}}^{1} = \frac{1}{1 - (-x^{2})} = \sum_{n=0}^{\infty} (-x^{2})^{n} = \sum_{n=0}^{\infty} (-1)^{n} x^{2n}$$

$$|x| < \pi$$

$$R = 1$$

$$R = 1$$

$$R = 1$$

$$artm(0) = (+ 0)$$

$$0 = 0$$

$$arctan(x) = \int_{0}^{\infty} \frac{(-1)^n \times 2n+1}{2n+1} \qquad R = 1$$

$$f(x) = x^{2} \arctan (3x^{4}) = x^{2} \cdot \underbrace{\left(-1\right)^{n} \left(3x^{4}\right)^{2n+1}}_{2n+1}$$

$$= x^{2} \cdot \underbrace{\left(-1\right)^{n} \cdot 3^{2n+1} \left(x^{4}\right)^{2n+1}}_{2n+1}$$

$$= \underbrace{\left(-1\right)^{n} \cdot 3^{2n+1} \cdot x^{8n+4} \cdot x^{2}}_{2n+1}$$

$$= \underbrace{\left(-1\right)^{n} \cdot 3^{2n+1} \cdot x^{8n+4} \cdot x^{2}}_{2n+1}$$

$$\times \operatorname{Arctan}(3x^{4}) = \underbrace{\left(-1\right)^{n} \cdot 3^{2n+1} \cdot x^{8n+4} \cdot x^{2}}_{2n+1}$$

$$= \underbrace{\left(-1\right)^{n} \cdot 3^{2n+1} \cdot x^{8n+4} \cdot x^{2}}_{2n+1}$$

 $|3x^{4}| < 1$ $|x^{4}| < \frac{1}{3}$ $|x| < \sqrt{\frac{1}{3}}$ $|x| < \sqrt{\frac{1}{3}}$ $|x| < \sqrt{\frac{1}{3}}$

Example: Find a power series representation of f(x).

$$f(x) = \frac{1}{(1+x)^3} \qquad g = \frac{1}{1+x} = \frac{1}{1-(-x)} = \frac{1}{1-(-x$$

$$\int_{-1}^{1} \left(\frac{1}{2} \frac{g'(x)}{(1+x)^{2}} \right) = \int_{-1}^{1} \left(\frac{1}{1+x} \right)^{2} = \int_{-1}^{1} \left(\frac{1$$

$$g'' = 2(1+x)^{-3} = \frac{z}{(1+x)^3} = \sum_{n=2}^{\infty} (-1)^n n(n-1) \times n^{-2}$$

$$f = \frac{1}{2} \frac{3''(x)}{x^{2}} = \frac{1}{2} \sum_{n=2}^{\infty} (-1)^{n} n (n-1) \times n^{-2} = \sum_{n=2}^{\infty} \frac{1}{2} (-1)^{n} n (n-1) \times n^{-2}$$

$$R = 1$$

$$\frac{1}{(1+x)^3} = \sum_{n=0}^{\infty}$$
to shift the inclex
$$\det j = n-2$$

$$i+2=n$$

$$i+2=n$$

$$\sum_{n=0}^{\infty} \frac{1}{2} (-1)^{n+2} (n+2)(n+1) \times n$$

$$= \sum_{j=0}^{\infty} \frac{1}{2} (-1)^{j+2} (j+2) (j+1) \times j$$

Example: Find a power series representation of f(x).

$$f(x)=\frac{x^3}{(1+2x)^3}$$

$$g = \frac{1}{1+2x} = (1+2x)^{-1} = \frac{1}{1-(-2x)} = \sum_{n=3}^{(-2x)^n} = \sum_{n=3}^{(-1)^n} 2^n x^n$$

$$= \frac{1}{1+2x} = \frac{1}{1+2x} = \frac{1}{1-(-2x)} = \sum_{n=3}^{(-1)^n} 2^n x^n$$

$$f(x) = \frac{x^3}{8} g''$$

$$5' = -(1+2x)^{-2} \cdot 2$$

$$= -2(1+2x)^{-2} = \frac{-2}{(1+2x)^{2}} = \sum_{n=1}^{\infty} (-1)^{n} 2^{n} n \times n^{-1}$$

$$5'' = 4(1+2x)^{-3} = \sum_{n=2}^{\infty} (-1)^{n} 2^{n} n \times n^{-2}$$

$$5'' = \frac{8}{(1+2x)^{3}} = \sum_{n=2}^{\infty} (-1)^{n} 2^{n} n \times n^{-2}$$

$$3'' = 4 (1+2x)^{-1} (1)$$

$$3'' = \frac{8}{(1+2x)^{3}} = \frac{5}{(1+2x)^{3}} (1)^{-2} (1)^{$$

$$f = \frac{x^3}{6} s'' = \sum_{n=2}^{\infty} \frac{x^3}{6} \cdot (-1)^n 2^n n (n-1) x^{n-2}$$

$$= \sum_{n=2}^{\infty} (-1)^n 2^{n-3} n (n-1) x^{n+1}$$

$$\begin{cases} \frac{2}{8} = \frac{2}{2^3} \\ = 2^{n-3} \end{cases}$$

Example: Use a series to evaluate this integral.

Example: Use a series to evaluate this integral.

$$\int \operatorname{arctan}(x^{3}) dx = \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

$$= \int \int \int \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

$$= \int \int \int \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

$$= \int \int \int \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

$$= \int \int \int \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

$$= \int \int \int \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

$$= \int \int \int \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

$$= \int \int \int \int \int \frac{(-1)^{n} (x^{3})^{2n+1}}{2n+1} dx$$

Building blocks(so far)

Wednesday, July 21, 2021 9:42 AM

$$\frac{1}{1-x} = \sum_{n=0}^{\infty} x^n \quad \text{if } |x| \leq 1 \qquad R = 1 \quad I: (-1,1)$$

$$|n(1+x)| = \sum_{n=0}^{\infty} \frac{(-1)^n x}{n+1}$$
 if $|x| \le 1$ Test endpoints to find Interval of Conv.

$$antan(x) = \sum_{n=0}^{\infty} \frac{(-1)^n \times 2n+1}{2n+1} \quad \text{if } |x| \in I$$